105 & PBEZ A B £ BEAF
B O~ % - % 8 Y R T A R 01250 - R
SRR A R L R
£ W FELR
BRI
# PoiAeig (AP AR - KASE - BEAY AR )
TRER 2] A
AR OB R T IEE
O3 LHHAT > (05 PRPRRATTAL B R RBITA D ABE L AR T 0 AP

- ~%2v=(326) i R" avré» "W LR & 294 (a,bb)w BN h3 2B Ry
bfEa - WP e “"E%_L.\A"\erﬁ’ﬂ\’ff’o(zo/w\)

S S ETY)=(2%, x+Yy) 5 R P chau g 4% o
O R AP R SR AB={(L0), (01 » SMLEHT ehEsL )50 L e 2 (10 4)
OF* A’ =P AP > 2 E AR $ T A A B ={(-2,3), (L, -1} 4B A’ - (10 A )

CERRfRA A E R D (20 )
Yy +4y=4x+8, y(0)=4, y'(0)=-

i

wo~ A R AL 0 (20 4)

s el o]
3 -1 4 3

CHHEP ha>laRT o T AA 2 o (104)

SN

J‘” de
0o a+cosé Ja -1

A EHEFE XSSP L prhF % amA Atz R X A F LR 7
(10 » )



